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KEEZIRH KEE#EE R448 | R45A | R46A | R4ATA | R48H | R49A | R410A | RA11H | R412R | R5.1A | R5.2A | R5.38
j—(f}é‘riﬂl% &K 1mLE 100ELTF 0 0 0 0 0 0 0 0 0 0 0 0
= & BHIhGLCE THH THH THH THH THH THH THH N N N N N
ARSIV LRUVZDIEEY 0.003mg/LLLTF — <0.0003 — — <0.0003 — — g.ﬁgjs ;ﬁfﬂj ;ﬁfﬂj gﬁgjs ;ﬁfﬂj
KERVZDILEY 0.0005mg/LLLTF — <0.00005 — — <0.00005 — — <0.00005 — — £0.00005 —
tb‘z?j‘zl]%ﬂ){tﬁ‘% 0.01mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
ﬁ’a&u%mtﬁi@ 0.01mg/LLLTF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
A Eﬁ&u%oﬂﬁnm 0.01mg/LEATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
o /\@OEI;H::.% o.ozmg/LL:JT — <0.002 — — <0.002 — — <0.002 — — <0.002 —
® Eﬁﬁﬁﬁigf _ _ __ 0.04mg/thJ\'F <0.004 — — <0.004 — — — <0.004 — <0.004 — —
= 7”711t¢%471'/&91§ajty7z 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
o EEREZERRUEHEBEESR 10mg/LUATF <1.0 — — <1.0 — — — <1.0 — <1.0 — —
& ,s\oi}zz(ﬁ%mti% 0.8mg/LELTF <0.08 — — <0.08 — — — <0.08 — <0.08 — —
i %ﬁ&zﬁ%mtn% I.Omg/LlfJ\‘-F — <0.01 — — <0.01 — — <0.01 — — <0.01 —
o At RE& 0.002mg/LLL T <0.0002 — — <0.0002 — — <0.0002 — — — <0.0002 —
& 1 ,4—yd-ﬂ§jf> 0.05mg/LLATF <0.005 — — <0.005 — — <0.005 — — — <0.005 —
7;5‘-5; }1’;} l‘é: ;f_ﬁ"';'_f;’;'aa T7Lo 0.04mg/LELT <0.001 — — <0.001 — — <0.001 — - - <0.001 -
5 ?OEID)";"!‘/ 0.02mg/LLLTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
% FrS/O0RIFLY 0.01mg/LULTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
% |~:J’JE|DI=H/> 0.01mg/LLAF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
x [RvEy 0.01mg/LUTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
n |BREE 0.6mg/LLL T <0.06 — — 0.08 — — — <0.06 — <0.06 — —
= ZDDE’-E@{A 0.02mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
1§ (2888l 0.06mg/LLL T 0.007 — — 0.016 — — 0.013 — — — ] —
g ’/L’?DDE’E& 0.03mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — 20(.)852 —
oJ0¥E/00A8Y 0.1mg/LELTF 0.001 — — 0.001 — — 0.002 — — — 0.001 —
e 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
IR 0.1mg/LEATF 0.012 — — 0.022 — — 0.020 — — — 0.011 —
PIEEES 0.03mg/LLLTF — 0.004 — — 0.008 — — 0.007 — — 0.004 —
jna&°)7un;¢9> 0.03mg/LLLF 0.004 — — 0.005 — — 0.005 — — — 0.004 —
JOERILL 0.09mg/LLLTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
RILLTILTER 0.08mg/LLL T — <0.005 — — <0.005 — — <0.005 — — <0.005 —
FIMRUZDIEEY 1.0mg/LLLTF — <0.01 — — <0.01 — — <0.01 — — <6 01 —
FILE=)LRUZDIEEY 0.2mg/LLL T — 0.04 — — 0.06 — — 0.04 — — 0.63 —
& ﬁ%&({%mte% 0.3mg/LLLF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
:ﬁ% HRUVZDILEY 1.0mg/LELTR = <0.01 = = <0.01 = = <0.01 — — <0.01 —
m'ﬂ FTRIDLRUVZDIEEY 200mg/LELF 3.6 — — 3.8 — — — 4.1 — 40 — —
n [ IVAVRUZEDIEEY 0.05mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
# s B A1A 200mg/LEA T 5.6 6.0 5.8 5.4 5.5 5.3 5.1 5.6 5.6 5.6 5.8 5.9
ﬁﬁ DIV L TR LE FEE) 300mg/LUATF 34 — — 29 — — — 43 — 43 — —
@\E AEBEEY 500mg/LLL TR 66 — 58 51 — 76 65 — 72 60 — 64
= Z'( I%»r?r‘/ﬁﬁiﬂiﬁu 0.2mg/LLA T — — <0.02 — — <0.02 — — <0.02 — — <0.02
= & CIFRAIV i 0.00001mg/LELTF = 0.000002 0.000002 0.000001 <0.000001 | <0.000001 — — — — — —
Ef 2-AFILAYRILRA—IL 0.00001mg/LEA T — <0.000001 | <0.000001 | <0.000001 | <0.000001 | <0.000001 — — — — — —
S 2 3?471-*/5@%’&%!1 0.02mg/LLLTF = <0.005 — — <0.005 — — <0.005 — — <0.005 —
#L;B Jz/—)L¥E 0.005mg/LLL T <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 — —
<z AR (2EH#RF(TOC)DE) 3mg/LLLTF 0.5 0.5 0.6 0.6 0.6 0.6 0.6 0.7 0.6 0.7 0.7 0.6
IE*L pH{E 580 E86LLT 7.6 7.6 7.1 7.6 15 7.6 7.1 7.1 7.1 7.8 7.1 7.1
B o B EE TR HEGL | BEsl | BEGL | BEAL | BEGL | EEGL | BEAL | BAGL | BEGL | EEsL | BAGL | BEGL
2R BEETHENIE BEELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL
Erﬁ 5EUT <0.5 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
;ﬁgﬁ'&!’iﬁ%(ﬁ"" 21§u'|= <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
2% (EITIREAD 0.1mg/LLLE (HEFTIRAN) 0.3 0.3 0.3 0.2 0.2 0.3 0.3 0.3 0.3 0.3 0.4 0.3
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